ReETFAN FHIR BEERS, MEET 01

1. ROBOEEG D ENBGETERD X, (SHK20F, AFKk30%, Bfkso®, CHki1o208)

L V2 2) V10
(3 VI8 (4) V6L

2. ROMWIZEZX. (SH1, AfR1540%, B#25 308, C#345520% )

(1) VEDEEERTZ a, MNGETZDETEEE, a—b DRDfEZERD k.

(2)  VTOEER D E o, MNEEHDTELET D EE, b(2a+b) DROfE%ERKD k.

(3)  VI4DEEH I o, NI EDET DL E, a® + b2 OXDEERD k.
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3. ROBOEEE T LB T ERD K. (S 25, Afk40®, Bk 17108, Cik27)

1 V3 (2 V8

() V20 (4) V50

4. ROMWIZEZ L. (SH14, A#14740%, B 24730, C# 345205 )

(1) VeDBEE % a, NI ZbETEEE, a—bDRDMEZ KD k.

(2)  VIIOEEIES % o, NGRTZOETZEE, b(2a+b) DROEZRD XK.

(3) VROEEH I E a, NI EDETDLE, o®+b ORDEEZRD L.
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1.

2.

ReETFAN FHIR BEERS, MEET 01

RDOBDEERE o £ N 2 RD XK. (S 20, Afk30#,

n V2 (2)

(3) V18 (4)

ROMIZEZ K. (SH14r, A 14540, Bk 24 30 7,

(1) Vs %o, NEGRTZVETEEE, a—bDAD

2<V5<3 = a=2, b=+5-2

mREmES

B#5s50%, C#1420%)

V10
V9 < < V16
< 3 < < 4

. NGy V10 — 3

V19 < V61 < V64
S 7T < 61 < 8

BX BB T, NS V61—

C#320%)

filiz R &

(2)  VTOREEED % o, NERTEOETHEE, b(20+b) DROfE%ERD k.

2<V7<3 = a=2, b=+7-2

b(2a+b) = (VT —2)(2x 247 —2)
=(V7-2)(VT+2)
— ST _ 92
=7-4=3

(3)  VI4OEEEIRIE o, MNIHTEDETZLEE, a® + 1 ORDOEEZRD K.

3<V1d<4 = a=3, b=+14-3

a2+b2:32+(\/ﬂ—3)2
— 904+ V14 —2x /14 x 3 + 92
=9+ 14—-6V14+9
=32 —-614
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3. ROBOBEI D E N DR RO K. (S5, A4, B1710F, CH24)

1 V3 (2 V8
V1< V3 < V4 Vi < V8 o< V9
S 1 < V3 o< 2 S 2 < 22 < 3
BZ BB 1, MNGES V3-1 BZ BB 2, INEGHD 2v2 -2
(3) V20 (4) /50
V16 < V20 < V25 V49 < B0 < 64
& 4 < 25 < 5 &S 7 < 52 < 8
B2 BB 4, NEEES 25 — 4 BZ BB T, INBGES 5V2 -7

4. ROMIZEZ L. (SH14, A#14740%, B 24730, C#34520% )

2<v6<3 = a=2, b=+v6-2

a—b=2-(V/6-2)
=2-6+2
=4—46

(2)  V9IIDOEEBERS % o, MNERTEDET B EE, b(2a+b) DRDfEZ KD K.
3<V1l<4 = a=3, b=+11-3
b(2a +b) = (V11 —3)(2 x 3+ V11 — 3)
= (V11 - 3)(V11 + 3)

VAT
—11-9=2

(3) V2BDEEEIRIE a, NEHDHRVETEEE, a® + b OROfEZRD K.
5<V28<6 = a=5, b=v28-5 (=2V7-5)
a? +b% =52 + (/28 — 5)?
=25+ /28° — 2 x /28 x 5+ 52

=25+ 28 — 10v/28 + 25
=78 — 207
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